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a) Calculate i;. Give your answer as a single numerical value with appropriate
units.
b)  Find the Thevenin equivalent circuit at terminals a and b. Express the Thevenin

voltage, vrp,, and Thevenin resistance, Ry, as single numerical values with

appropriate units.

soln: q) Recause of +he lb mA sourde, +the +otal

carrent  flowing into <the 1202|909 is
l6 mA. Thus, we have a carrent divider.
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k) Vo = Va,b with no'{')\i.ha connected to a,b.
So vqn = 1, (1202) = 1+ mA (1305
or Vyp = .82V
Alternatiyely, we could use
Vrp = [6mA- (3052|100 = .82V,

To Find Ry, turn off inde{:»enolem': sour¢es
and ool into circuit Frem a, b.
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This s+r-ar\3€ aureurt may redrawn as Follows-
a

o130 & Ry,

\ 5 b
30| 100|150 0

The kottom R is dangling and may be Ljnoreaﬂ

Ry, =lo][120 2 = 1300 7|
or
Rep= 13007(1) =\3o.&z[z)= \13.75 a
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